0D0oooo Amu 00 Proposed Peoblem

1.0 AABCOODDOOD AMODOOODO

/4B =/MAC, ZAMB =45° A

ooooZBoOOOoOoooOo

2.0 AABCOODOOOOOOOOOOO
/ABO = ZOBC = 20°,

/BCO = 10°, ZOCB = 30°

O0ooOozZoACoOoOooOooOo




3.0 AABCOOOOO AMOODODO

/B =3/C, /AMB = 45°

oooozZCOoOoooooo

4. 000000 AABCDOOOODO

BC=CD=DA, /B=qa, /D =2a

O0000000ZAO «0OO0OOO
oooon




H.0000DoD0 AABCOO BCOOO

DOOOOO >
AD =DC, AC=BD, /CAD =2z, /B=3x
3z .
000020000000 B D
A
6. 000000 AABCOO BCOOO z
DOOOOO
AB=DC, /DAB=2, /B=2z /C=3z
o 3z
B D #

ooobzO0000000

7. 000000 AABCOO BCOOD
DOOOOO

AD =BC, /B =3z, ZC =4z, /DAC =2z

oobobzO0000000




§. 000000 ABCDODOOOO

AB=BC=AD, /A =90°, /DBC =2z, /BDC =45°—z

ogbob0z0O00D0O000

B T 45° % D
C
9. 000000 ABCDOOODOO A
AB=BC = AC, /DBC =z, /BDC=10°, ZDAC = z+30° A
000020000000
B T 10° D
C

10. 000000 AABC OO BCOOD
DOOOOO

AB=DC, /B=80°, £/C=20°, /ZCAD =z

ogbobdz0O000D0O0O




/11.000000 AABC OO BCOOD
DOOOOO

BD:DC=1:2, /B=90°, /C=/DAB=x

oobdz0OOO0D0O0OO

12. 0ooooo AABC OO BCOOD
DOOOOO

BD = AC, /B=2, /C=50°, ZCAD = 15°

coobzO0000000

13. 000000 AABCOO BCOOD A

DOOOOD
AB=DC, /DAB=5z, /B=3z, /C=4iz o

O0O00zOOODOODO
3T




39. 0000 AABCOODOO ODDOOO OOO
BCOCADOABOOOO DOEOFOOOOO
0EF0O BOOCOOOOOOOOOOGOH
000000000000000000

(1) 000 BHFOOCGEOCBHFDOCGED
gdooooboooooobooboa
fals

(2) ZECG = /EDG = /EOGD
/FBH = /FDH = /FOH

(3) BH L CHOBG L CG

(4) BH//EDO CG//DF

(5) ZABC = /DHGO /FCB = /DGHO
/BAC = /GDH
0000 AABC s ADGH

(6) 000 BHGCOOOOOOOOOO
ogooooo

(7) ZCBG = /DHO = /DFO =
/CHGO
/BCH = /DGO = /DEO = /BGH

(8) 0 OO0 ADGHOOOOOOODOO




